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Mini Equation Unit

(Substitute for Section I of GRAPHING EQUATIONS)
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Solving Equations: X + a = b
Solve each equation. Check your solution.

Lmek il 12
Mt @212 )
m RS

3.y+19=15
Y= 19-14)= 18 -19
Ny L) - H

d =Y
5. 12 =tH3

7_13=z+18,
\‘/):8 . ‘\;’|§‘
- < N\

9.y+ (-7 =5
1L ¢+ (-11) =0
13. p + (=9) = =7

15. -8 +t = —12

17. u + 38 = 34

19. 35 = w + 35

21. ¢ +(~15) =15
a\‘-k

93. —15 = 15+ f

25. 3+ r = —14

2. h+3=-5
4. x + (-12) = 4
6. z+ (-7 = -8
8. —-13=6+tm
10. m + 18 = —9
12. n + 256 = 26

14. 17+ k =11
YRy & I =17

& ;£ {
< \

; R

16. y +.t—59-) =17
18. 47 = -19 +p
20. 0 = —16 + 1
29.19 = g + (-8)
24. —=9:= _—4 + s

26. —204 + n = 215

20

Glencoe Division, MacmiuanchGraw-Hill



Name

Date

Solving Equations: x — b

Solve each equation. Check your solution.

C

a3y =T = Lk
b 0
k)

9. m— (-14) = -17
11. 12 =m — 4
13, =18/ =2=8)
15. k — 17 = —8
17. u — (—35) = 12
19. e — 39 = 19

(@f\() \ 100 1
.7@(,_",) 5
93, t — (~47) = 61

160)

25. [ — 13 = —19

4.

10.

12.

16.
18.
20.

22.

26.

21

. x—15= —6

z—(-12) = —28

. f+(-8) =14

r+(-12) = 17

h—(-6) =6

~14 =2z — (—6)

w-—12 = —12

. -8 =b-091

j— (=8 = —13



Name

Date

Solving Equations: > =
Sotve each equation. Check your solution.
= 14

13.

16.

19.

22.

25.

w0

|

= -11

=2]
r—-‘a"'

-14

b

A v
2. - 3 3. —= = 20
2 0. Bt oy
5.12-—7 6.13—_3
8. = = - N
== 9. -1 =
o B8 -
11. -6 = - 12. -8 = oy
14. 4 = =) 15. 5 = —
,/\ L.é’j/,,' 18
L_ -‘r.;‘f:" K'\, ‘-’. - ‘\’
) I
20 <
U a
17.:— 18-_—— -9
= - _ak
20. 12 = E 21. 156 = =
e
. i ' 7/: - \ A l
i X i |
23. — = 51 24. =24 = ;
26. - = 19 27. = =13
9 » -31
= = -
29. 247 = —3 30_§§_ 249
23
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Date

Solving Equations: ax = b
Solve each equation. Check your solution.
2. 2g = —-24

13

16.

19

. —22 = =2¢e
Y g
~7 2
'_f(‘f . e

—64 = 8¢

. —8h = —112

292, —244 = 4q

25. —7x = 175

5. =5z = 50
—42

11, 36

17.

-96 = —8w

—14h = —182

32, —15q = —165

288

\¢ ;
B35. —12y = 288 ,

Gal?’

l

38, —17d = 323 [,

C

/7'2ﬁ\1'.~9r — 522
M~ Y 522

~

-
~

—)

12,

15.

18.

24.

27.

39.

-16y = —16
24 = —-3m
9x = 81

-72 = 8k

108 = 9l

-7z = 91

/

(~Sds

—~—

:‘;. n 9 y Y f,CA/ :
(o 147 4
3f

540 =
12y = 132
9225 = —15x
24e = 312

17y = 136

-108 = —4¢

?



Name Date

Solving Two-Step Equations
Solve each equation. Check your solution.

1. 6x+ 8 =20 2. -10 -k = 36 3.15=T—y
4. 15 + 4g = —33 5. 8—2z=21 6. —9x — 36 = 72
7. 4 — 5¢ = 64 8. 8h+7 = —113 9. 15d — 21 = 564
10. 2x+5 =5 11. 14 = 27 — x 12. 44 = —4 + 8p
13. 3 + 6u = —683 14. 33 = 5i — 12 15.19 = -3¢ - 5
\16. -21 — 15m = 219 17. = —15 = 31 18. 6 — 5/ = —94
;' '/\l- 2 & 12
N X
\/19 il il e 2015+(—3)—29 21. - & — 36
P DA | 4/ YR
[ ™~/ T | X
[N F299_ - 00
W b c
22, %" -30 23. -8 + ('Z) = 48 24, —-2d + 7 = 13
C b+-450 |
(25.——;-—12=—3 26.9=—%+14 27.—11+%=0
[ \\ T e
XX pﬁfi - H9
) X
B0, ; T st =8
28'_,3__ 5 20. < = -6 30. == =0
(LT -7
41) 1585 1Y Y 32, -10 = 22 33, -16 = =°
{!,.—‘w‘_\ ~ = / I/
( \‘/\\; <Y 5=l
N
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Vive la France!

4 <<:< a_a Pierre ,_mon:mm Marseille *mm_ at home in a bakery?

Wh e EA YN C UG R ED

— ——— 4y e et —

A..%JI- @\mld S&DN > 2 11\fle/ 9 20_7 -8

2. What do they call the famous Tm:o: cm:mqm_ E:o kept a<:m5_ﬁm _: his kitchen?
Ll N ¢ Lt U wiE L Yy W\ \H mc

1mmmw&u-#muoé:waml__wndwwnm|

[

You've probably heard about the guy who fell off a bridge in Paris. He went in Seine. To find
out about two other French citizens:

Solve each equation below and find your solution in the code. Each time the solution appears,
write the letter of the exercise above it.

— (s)3n-5=19 — (A) 11 +6k=65_ — (F) 44=5x-6
s (0)4x+2=14 a (M) 7+3m=-29 n @-?mfa
: - L l“ﬁ.
@SISN-m — (® TSTE,\, — (L) 31=4-9y
o E o =0 o
(E) 2a—15="1 (H) 2-7d= (R) 52-3u=8
_ \| _
2 @-mxiuﬁ_ . L) 4y-9=15 g (N) -11r-2=-24
T e - (¢ /)
— (1) 8w +4="36 (W) 8+ 12e="20 — (B) 6-x=15 =

\.-\ - —
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Review I -- Equations

Name:

Solve each equation. Check * problems. Show process on separate paper.

|

(i) A+ -8 =16
i o= Y
) B-1=729
e 75
5 - Flle=F132
4) d=26 (:L. .
g )
(5) 3E + 8 = "10
(6), 16 - 4F = b=y
\7% g - G = il v
D oe-g-n
(g) JH + 6 = 3H + 9
6) K +3 = XK + 10
@ IM - 12 = 24 - 6M
L\,(
hn-~
1@ OJN + 8 = 3N - 15
(2) 6p + 11 ="6P -5
S |
| i
@ _?Q +5=Q+9
: d-=12

14) -OR - 11 + 5R = 23

o) 2V & TV + 5 - 3V =

(=3

=l

Hly| -0 -11160 <07
B K&t €23
g

| i’r i -9
\\ Te~l) ¥ =20
!1 'Ll.f = ‘H
i i
| 7=3

16 2v4) I
| v+ 6 -3v = 4y -
/| - s
*‘ vt v 3\1 kS ® f() J '{f._",/
| Gv-FD 1714,
;‘ [ L!\,%’ by
\ T ¥t ]7
| 7S S g
/1 L= 1L
2 =1
\ s I
t/-’ (

|

|

1
18+4V%-1
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Sw=- )= Y-/2
w= §
-Yy/ S = w2,
5
T sl =GP f&/(
w-
20+ IO = I 40
o
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7 -
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: Name: f'f U/

C Quiz -- Equations
(50 Points)
Solve each equation. Be sure to show process.
y% 6 HA S - )/) 18 3}} = ?4 b
SRR 13- 3Es ~1y-i3
f—a) \g-12- 1=
* hj‘{'_ ‘L{ / . —
- S8 4\ v
( ¢ ___/—’3"\
~H7‘3: =
. J,@B 7a) Check F1 g,
- 13+ 0% °
| 13- 3@ <24
GJ) 9C = 45 2ba w,-?ﬁ( ' |
e 24=-2Y
£ I | w/ 4H + 7 = 5H + 11
(‘Ux\ f43 o = 3—3— \ & ’{( >
")(\f\ PR & % .\ “GH Y
X f\\{\" o _71“7\‘ 2l B\ ke
o, QT\S = | s 1]
<X ,\ ,
L1~
) "12 = "8 + 4E :
1245 _.353%,\%? ?)/ A
-t ~ ]k 23 2k+1)- 17
Su. NE
14
2 .
gl
c oy
i SRR ¥
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Answer the following using your knowledge of equations & solutions.

11) Without solvii"lg the equation, SHOW and EXPLAIN how we would know
if R =4 is the soluti n‘fgl]'. the equation 7R - 14 = 2R + 6 '
A4 Con { -.‘f‘fi'_ aaf “H. The Td (&

| K8 < Iy i
13-y < g0\ [ Dofavse e 1 et
1< 14 ]
12) Write a two-step equation whose solution is W = 3
e 3
U
culelee -

A "y ~ a
s e LA £AD -~
\—: -
-~
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Find the number that solves each equation. Use that number to replace the

letter in the ordered pairs.
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Plotting

0)
0)
STOP

— — e e S — e e e et e et e e e e e e e e

P e e

Color the
triangile.
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NAME AL MEETS EUCLIDEAN DIVISION MAR. 18, 1999 GRADE 7
30 MINUTES

ANSWER COLUMN
Directions: Place your answer to each question below in the answer column. P

<0 10 g
1" How much larger is $~0f-20 than :—of-122 L.
20 a"jt'J =5 arﬁd cad=:%5, express (35*3{) a10in simplest form. 2) [ )
Yt gy Ci= g |
3 If 4l = 4%3x2X 1= 24 and 51 = Sxdx Fx-2x = 120, how

A gl ; ) o
much larger is 377 than %f ‘_,i LX- | - ( 3
: 6 Al = 2 24 it 2

“plant

o

4) When Kyle bouﬁht his tomato plant it wés 4 inches tall. \‘Fh

grew 13 of an inch each week for 4 weeks and then 37 inches .
each week for 6 weeks. How tall was Kyle's tomato plant at the end “1 4

of those 10 weeks? l -
5) A box contains 83 paper clips (20 red, 16 green, 15 brown, 12
white, 11 black and 9 purple). If clips are drawn out of the box at
random, how many must be drawn out to guarantee that at least 14
clips are the same color? *  B) [
One day Tom, Dick and Harry worked for their father. Tom and Dick
worked for the first two hours and were paid a total of $25 which
was the sum of their ages. Tom and Harry worked for the next two
hours and were paid a total of $27 which was the sum of their
ages. Dick and Harry worked the last two hours and were paid a
total of $28 which was the sum of their ages. How old is Harry? 6)
7 : 13 ¢ "R’ &R g
U ff O Rt .__.\n _.___4__: e
= o , 1 )
-~ | g L
9 5 5 ) \7) | /
/ 1} /I.ll\f‘.\ . \]f !
\ 2 ‘ = 1S
{ a Te 3 -
74 O j
: J* [ L 1 ' {
> \ vV 4 )
~ v’\ ] }
! (; ded
.
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Peace
Find the number that solves each equation. Use that number to replace the “——~ -
letter in the ordered pairs. 9 highs:q £

3A = 8 A=L - T |
OB = -22 B=_ Il &y
15C =30 - c=_"1T
-2D =-18 D=__ o
6E = 30 E=_( . 1120
-10F =-100 F=_1b o
5G =0 G=_/ TR
-6H =-18 H=_ 3 116
20=2Z Jd= -\
=TK =358 K=_"o
6M =42 M=
10N =-80 N=_"
,‘k
3,A) (E, G) 4, K) (8, E) (7, 8) (E, E)
(-6, A) (H, G) 4,0 D, E) 8,D) A A)
4, 4) G, -1 STOP (D, A) tluilF) (A, E)
3:C) (C,—4) 4, 0.5) (M, M) (A, D) STOP
EeE=1) (0, N) (4’ C.) D, 7) (A, 8)
22 (4,-10) (A, 5) (10, 8) (E, D)
Ed1) (N, -10) (A, 2 (D, D) (4, D)
el (B, N) (NE H) (7, 8) (4, 8)
(G, H) (B, A) @ ’4) (7, 6) (A, 7)
2, H) STOP (N,I A (6, 6) 4, A
(H, 1) ’ (6, 8) 4, E)
i~
Equations

18

SUOREDIIgNY UnowAes ejeq @ sesmold Bunjojd
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1)

4)
'5)

6)

Y E7-3
'{‘.'"z’ - ‘? A 1D ‘C’ ]L‘ f]ff/v ’,,//O i
NAME| | L/

Pt " MEET 3 EUCLIDEAN DIVISION JAN. 14, 1999 GRADE 7

Find the number K represents if %?5 = 15.

52 = 5x5x5;5=5x5x5 x 5. How many times larger is
12 x 43 than 4%?

28 20 20 29 e
The average of 8 numbers is 20. FEight is added to one of the 8
numbers. The 8 numbers now have an average of

Mom and Pop’s neighborhood store buy cough drops at $3.50 for
a dozen boxes. They sell cough drops for 69¢ a box. If they sell 3
dozen boxes of cough drops, what is their profit?

Joan runs twice as fast as Sally. In a 200 yard race, Joan gives
Sally a 40 yard head start (Sally will only have to run 160 yards).
When Joan crosses the finish line, Sally is yards behind her.

Two water tanks, one the shape of a cylinder and the other in the
shape of a cone, are full of water. The cylindrical tank contains 600
gallons more than the conical tank. If 200 gallons of water is
pumped from each tank then the cylindrical tank will contain twice
as much water as the conical tank. How many galions of water
does the cylindrical tank contain when it is full?

Directions: Place your answer to each question below in the answer column

1)

2)

3)

4)

3)

6)

30 MINUTES

ANSWER COLUMN

k=4

A x )~

, 2
G
389 .43
ot >
) 6.0 3//
UA | Vol
20 1201y
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Quiz -- Name: 1} Wl N
Graphing Equations ~ -

,I" -
oAa A fanDA4D 2
V X OLUACA

1)  Write an equation for each line (Tower B's report and Tower A's
report) shown in the graph.

Tower B ' Tower A
} L Nt ﬂ { ] | .
Y W\é{_ *j; 5 ,) / | “.:,.‘ L:}, | -3
[ ol / : e % 3
b= L5 \_5_3 b
= P B : Pk =

2) Use the equations (from #1) to find the fire lll

3 “ ) s
2 > { \S ~ - :‘ " - \J %{’)-" L:"‘ >f f 5
G G ~ ) - . 5 p i
2 < f V. / J X 1
{
2 x tO 3
g )\"'?yr)u &-wa
i« _ ¢
--—Q—‘ M2
—S =
N .\ ~ >
e T ———
¥rTOXSS

[« -4
3) What message would the rangers expect to receive from

N <mxth Tower €2

n° 0 1S)

e 2 () ( |
0--2, ls3l
ﬁ@f’”?&/
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Graphing Equations

The park rangers' supervisor received the following displayed on her
computer screen,

CAC

A
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Decision Making

@

Classwork Homework

A. Feasible Plans (Pages 1 - 10)

#s1,4-6 #s 3 (due: |, ),7-9
#s10-13 #s 14 - 16
#s 17,18 #s 19,20
B. Fair Exchange (Pages 11 - 14)
#s1-4 Finish # 4
#s5,6-9 #s 7.8,10

Review sections A and B
Quiz on sections A and B

C. More Exchanging (Pages 15 - 20)

i #s 3,4 #s 1,2,6
‘ D. More Constraints (Pages 21 - 26)
#s1-7 #s 8-11
#s 12,13 #s 14,15
Review Decision Making

Quiz -- Decision Making

#*x* THIS IS A TENTATIVE SCHEDULE ***



; student Activity Sheet 1
) Name

Use with Decision Making, page 3.
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Student Activity Sheet 2 i

Use with Decision Making, page 6.

10. c. Does the plan (8,18) work? Plot it on the graph shown below.

d. Is (18, 8) the same plan as (8, 18)? Why or why not?

e. Find another plan that will work and plot it on the graph shown below.

Plans for the Development
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Student Activity Sheet 3

Use with Decision Making, pages 8, 11, 12, and 13.
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Review -- Name:

Decision Making (A & B)

[ have $1200 in my savings account. According to my bank’s rules and
regulations, I must keep $100 in my account to avoid service charges (and I
WANT to avoid service charges !). I now want to make a withdrawal (I have
much shopping to do!). T only want to receive twenty-dollar bills and/or fifty-
dollar bills. HELP !!!!

Let F represent the # of fifty-dollar bills & T represent the # of twenty-dollar
bills.

1)  Find the maximum money I may withdrawal (remember I do not want to
pay service charges.)

2)  Find (be sure to show process) and plot a point that uses this maximum

money.

3)  Find the fair exchange and use this to find all the points that use the
maximum money. List all the points.

4)  Considering the fact that I do not want to pay a service charge, shade the
graph from #3 with two colors so that one color shows where all the
“feasible withdrawals” are and the other color shows where all the
“unfeasible withdrawals” are.

5)  On the same graph, repeat the procedure used in problem #s 2 and 3 for
maximum money of $1250 and $1430. (Do NOT list all points)

6)  Label each “dividing line”.

7)  List the “constraints” that were used in these problems (ignore #4).



Review --
Decision Making (A & B)

Name:
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Review 2-- Name:
Decision Making (A & B)

There is a plot of land (17,000 m?2) that needs to be developed. The developer has
decided to build houses (500 m2) and/or townhouses (300 m?2). He has also
decided to develop a playground/park, using 2000 m2. He needs HELP !!!

Let H represent the # houses & T represent the # of townhouses.

1)  Find the maximum square meters he may develop with houses and or
townhouses.

2)  Find (be sure to show process) and plot a point that uses the maximum
square meters.

3)  Find the fair exchange and use this to find all the points that use the
maximum square meters. List all the points.

4)  Considering the fact that he wants to leave 2000 m2 for the
playground/park, shade the graph from #3 with two colors so that one color
shows where all the “feasible plans” are and the other color shows where all
the “unfeasible plans” are.

5)  On the second graph, redraw (no shading) the graph you created from
problem #s 2 and 3, then repeat the procedure used in problem #s 2 and 3

for maximum square meters of 12,900 m2 and 11,900 m2. (Do NOT list
points)

6)  Label each “dividing line”.

7)  List the “constraints” that were used in these problems (ignore #4).
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Student Activity Sheet 4 o

Use with Decision Making, page 16.
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Student Activity Sheet 6

.. Use with Decision Making, pages 21 and 26.
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Student Activity Sheet 7

Name
Use with Decision Making, page 22.
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Student Activity Sheet 8 .

Use with Decision Making, page 24.
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Name Date

MT. SPARTA TRIP

Use additional paper as needed.

The seventh-grade class at Duvall
Middle School is planning a field
trip to the forest preserve at the
top of Mt. Sparta. To get from the
base of the mountain to the top,
the 300 students must travel in
either a van or a bus provided by
the forest preserve. This
expedition will take several trips,
since only one vehicle can travel
on the long, narrow road at one time. The van can carry 10 students and the bus can carry
30 students.

1. a. Find a feasible plan (V, B) that can be used to transport all of the students to the
forest preserve using the two vehicles. Show how you came up with your plan.

b. What is the fair exchange between the vans and buses? Explain how this works.
2. Use your answers to problems 1a and b to graph all the possible feasible plans (V, B).

Draw a dividing line for this constraint and shade in the feasible region on your
graph. Note: Remember to label the horizontal and vertical axes and the dividing line

1 ‘ on your graph.

A,

s

The students would like to get to the forest preserve as quickly as possible, so that they
can start having fun. Each round trip from the mountain base to the forest preserve takes
10 minutes by van and 15 minutes by bus. You have volunteered to find a plan that will
get the students to the top of the mountain in less than four hours.

3. a. Find a feasible plan (V, B) that can be used to transport the students to the forest
preserve in less than four hours.

b. What is the fair exchange here?

c. Use your answers to problems 3a and b to graph all the possible feasible plans
(V. B) on the same graph that you made for problem 2. Draw a dividing line for the
constraint and shade in the feasible region on your graph.

4. Find a plan (V, B) that satisfies both constraints. Explain your answer.

5. Which plan would take the shortest time?

88 Mt Sparta Trip Britannica Mathemnatics System
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. Name Date

Use additional paper as needed.

' Tom and Minh are playing a dart game using the dart
board shown on the right. A player scores 5 points

' when his or her dart lands in the center and

2 points when the dart lands in the outer rim.

) 1. Tom claims that he can score exactly
50 points by throwing the dart in the
) center six times and in the outer rim
12 times. Is he correct? Why or why not?

Minh scored 40 points in the first game.
2. Find two combinations of five-point and

two-point shots (F, T) that would add up to
40 points.

3. What is the greatest number of times that Minh's darts could have landed in center during
her first game in which she scored 40 points?

-w W W W W W

4. Make a graph using Student Activity Sheet 9 to show as many feasible plans (F T) for
scoring 40 points as you can find.

€

5. What is the fair exchange between two-point shots and five-point shots to make a total

)

) score of 40 points?

) In the dart game, the winner is the first person to score 40 or more points.

) 6. Shade your graph from problem 4 to show the feasible region of plans (F, T) that add up
to 40 points.

) :

3 : Suppose you play a dart game in which you can only shoot the darts 15 or fewer times.

) : 7. What is the maximum number of points you could earn?

) ( 8. How many points would you earn with the combination (2, 13) (two shots in the center

i and 13 shots in the outer rim)?

v

) - 9. [s the combination (7, 3) a winning plan? Explain why or why not.

= - 10. What is the least number of five-point shots you can make and still win?

’ 2

B : 11. Make a list of all the feasible plans that satisfy both constraints (scores of

"‘ _ 40 points or more and 15 or less throws per game). Explain how you found your plans.

’ Darts 89

Mathematics in Context « Decision Making
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Review -- Decision Making Name: ALK, ~V AL

Wow Il Mrs Evarts just inherited land in Morsetown. She and T
decided to create a community where we could open a school and teach
mathematics (a continuing dream of ours for many years). After much
discussion, we decided to allot 18,000 square meters of the land for
building houses and townhouses. We decided a house could use 600
square meters of land and fownhouses could use 500 square meter of
land. We need to find fol four' feasible plans Can you,\hfage us ?

M,//(":‘IF £« ! {{J‘ ¢ i ['\‘. . .’ R P\ )‘——M X f 19 \I t’ |

!| \'-"‘.‘“\I Al i { '..‘1 > XM A 1

residents (in order to have a good tax base). We must have at least
164 people living in the units. On an average, six people can live in each
house, while four people can live in each townhouse.

We now need to find f four feasible plans that fit both constraints. Can
you help us again? (] ‘ (11

R Uy ’

¢ ":‘_Fa;' s .
3 A S ETS l o I W/
] ] j F"\, i 4 ‘,_‘\}:/

( )t )L i 1 \‘: / | ‘\ D G Al

anTs: ‘ ; L ‘l‘v‘: . ”f" ;J \- 3t ‘l‘: | “:4 '_, |"‘ ‘r‘ .‘ \Q ‘;/;"/,f_- '\ e T o r— '8 ) 'C\W

\ v—) v
2) Equation b |

3) Extremes

4)  Fair Exchange / Slope / Direction Pair(s)

5) Ordered pairs for plans using the exact constraint.

6) Sketch / Graph showing #4 and shading the feasible plan region -
(do not forget to label your sketch / graph)

Thanks for your help :-)
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do you
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(Probability)
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WHAT'S IN THE BUCKET 7

DZAW

A. How manv blocks drawn by vour class were blue? How‘\-nanv-were'»"'“éllow?f ls
How many were red? .

B. Which color block—blue. vellow, or red—do you think there are the greatest
aumber of in the bucker? Which color block do you think there are the least

number of? =':

C. Based on vour experimental data, predict the fraction of blocks in the bucket
that are blue. that are yellow; and that are red.

&

\/
L

h

8 —

y €

DCZAW |[RED |YeElow | BLue RED |JEUW|BLUE.
1 Vi /9 Y
2 \j / - O v
3 | v 2.
4 v 2R
b 2 H
7 v 25
g | 26
q |/ i W
10 V) 2.8 v
L 219 o
12 |V S0 l
E 1 b
|4 32 | J
15 ‘ DD 4
| b v Han -
17 (v 35 v
E L 26 o
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D. After your teacher shows you the blocks in the bucket, find the fraction of

blue blocks. the fraction of vellow blocks. and the fraction of red blocks.

2 —= , [ : ' i NTUl
i

E. How do the fractions of blocks that are blue. vellow. and red compare 1o the ¥ goll
fractions of blue. vellow, and red blocks drawn during the experiment?

B Y | P

i Problem 1.1 Follow-Up
1. a. Is each block equally likely to be selected from the bucker? That is. does each
block have the same chance of being selected? Explain vour reasoning.
f
\( .

b. s each color equally likely to be selected? Explain vour reasoning.

2. \thar is the probability of drawing a white block from the bucker?

—

3. How many blue blocks need to be added to the bucket for [hé probibility of drawing
1 blue block 1o be +2 PP
y ) { - V0
S \0 Cod M
‘ Ur



Labsheet 1.2

Turn Player | Player Turn Player | Player
number | Result | A's score | B’s score | | number | Result | A's score |B’s score

1 |pp | | B Yy | /

2 ok ) 14 | R\ |

3 dY ) 15

4 \ K!r’ ! 3 16 {5

5 ¥Vl 0y 17

6 l{ 18 W

7 { d { 19 r \/

8 A 20 |y

9 21 | 20
10 2 8RB | {7

|y ) 2 | VR £7
2 |} JHEIRT _

W 2y

____gm

Blackline Masters

What Do You Expect?
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Matching C Colors g

April and Tioko invented a two-player spinner game
called Match No-Match. A plaver spins this spinner
wwice on his or her tumn. [f both spins land on the
same color (a match), Player A scores. [f the mo
‘) spins land on different colors (a no-match). Plaver B
scores. Since there are rwo matching combinations—
blue blue and vellow. vellow—they decided that
Plaver A should score only 1 point for a match
and Plaver B should score 2 points for a no-match.

Play the Match/No-Match game with a partner. Take a total of 24 rurns (12 turns
for each player). For each tumn, record the color pair on Labsheet 1.2, and award

points to the appropriate player.
A. Use the results you collected to find the experimental probabilities of
2 match and 2 no-match. The experimental probability of a match is

¢
5 number of turns that are matches -
P( )= total number of turns
The experimental probability of a no-match is

_ number of turns that are no-matches [/~ . ¢
P(no-match) = total number of turns B bhic R L

T

d

B. List all the possible outcomes of a turn (two spins). Write the outcomes as
pairs of the form color on first spin / color on second spin, such as blue/blue.
Use your list to determine the tbeoretical probabilities of a match and a no-
match. Since all the outcomes are equally likely, the theoretical probability of

a match is
{matgl) = num::;l(;f: z}cmowﬁ —(’I/ﬁ K, Ff - &
The theoretical probabdaty of 2 no-miatch is
C. How do vour results for parts A and B compare?
{ ' od ¢ v K U ff‘ & (9

D. Is Match/No-Match 2 fair game? If you think the game is fair cxpwn = h~ If
vou think it is not fair, explain how the rules could be changed 1 mdke 1t fair.

\/ N ( |
‘ ~ q 14 f
ts".‘ (1 : .

-4:_’&4(;.“ ( Naweco 0f R J.-.-,‘. ;

J

;]

. 19y

\L}_/)f(j S

17%



g Problem 1.2 Follow-Up

4. Are a match and a no-match equally likely? Explain your reasoning.
Nes H 5 s
2. In 100 rurns of the Match No-Match game. how many times would vou expect each
of the followng to occur? T
a. wovellows 2.0 & > . v
b. o blues L { LR J)
¢. one vellow and one blueSh iR o g e
d. at least one vellow "/ -2 N
_ : LUS e wi(d> TG Ve
AR )
3. a. Look at vour results on Labsheet 1.2. If vou had stopped after one turn. what
would have been the expenmental probability of a match? If vou had stopped
after wo turns. what would have been the expenmental probability of a match?
If vou had stopped after three turns. what would have been the experimental
probability of a match? Continue (0 find the experimental probabilities through -
24 turns. Record vour results in a able. '
| g e q Lo (o B 2 (sl Y,
: . 1 & \E\ | ‘N 1,7 y l] ) W N
9 ; '
== = 99 . i ¢ A N
23 & [c=,83 [ID 5 o6 |18 s =, 6822055 °
360 7 R U [aF S5l g e s 0317355 =3
- f
— : ) : .)U“‘ - R = ) a L 4 -\N
#1535, 088 309|125 7.6 |1k 20(5: OS24 5y .
b. PISt vour data from part a on a coordinate en
l.bf
= 0.3 ";-
2 1
: 006+ \ o
=] A N &
= <
oM+
3 =
< {:2:
0u ettt — C
n 5 0 15 . il )3

Number of turns
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Spinner A

Making Purple

Spinner B

 Labsheet 1.3

Turn Turn Turn Turn
number | Purple? | | number | Purple? | | number |Purple? | | number | Purple?
| 14 =2 v 40
2 15 28 41
3 16 29 42 o
4 17 30 8 | v
5 T 18 31 44
0 19 32 T 45
7 20 33 46 \
8 21 34 47
-9 22 35 48
10 PX; — 36 49
i 24 v 37 50
12 25 38 fleal | §
13 26 39 :

What Do You Expect?

Blackline Masters




1.3 Making Purple (.

The most popular game at the school carnival is a spinner game called Making Purple.
To play the game. a player spins each of the spinners below once. If the plaver gets red
on spinner A and blue on spinner B. the plaver wins. because red and blue together

""‘) make purple.

A. Play Making Purple 50 times. and record the results on Labsheet 1.3. Based
on vour results, what is the experimental probablhty Lhat a player will “make
purple” on any single turn?

B. Plot the experimental probabilit?’ﬁf?ﬁikiﬂg purple vou would have found f
vou had stopped after 5 turns. 10 turns, 15 tums, and so on. up to 50 trns.

=
[=]

o
Lo -]
3
T

o
o
i

(=]
-
I
T

(=]
LN
4
T

Probability of making purple

10 15 20 25 30 35 10 19 30
Number of turns

)

b

€. What do vou think your graph would look like if you had taken 100 turns?
200 turns? 1000 turns? “i'

D. List the possible outcomes for a turn. Write the outcomes as pairs of the form

color on spinner A/color on.s {nner B. Are the outcomes cyually likely?

Explain'why or why no it (R el
L = Ay — é “EN '\‘l o
’ ~ — i
h\ < !3' ] i~ [N I o ~d \
> A . d i g / I ™9 1 /
( < X i ' | s e “9
b~ P U /‘ T 50 07 y
r M ;-. ;.. \ I ; »
E. Whar is the theoretical probability that a player will make purple . n a turn? f
!/. 1]\ __‘, IR
() 1 ~ Q Jd 11
A l |

F. How does the experimental probability of making purple «:mpire with the
‘, theoretical probability of making purple? Explain.

V)

(r




. April and Tioko decide to play the Match/No-Match game on the spinner below. As.
in the original game. a turn consists of two spins. Plaver A scores 1 point if the
spins match. and Player B scores 1 point if they do not match.

Yellow

A. Use a counting tree to find all the possible outcomes for this game.

B. What is the theoretical probability of gerting a match on a urn’

C. What is the theoretical probability of getting a no-match on 4 tum-

D. Do you think this is a fair game? If you think the game is fair cxplun why. If
vou think it is not fair. explain how the rules could be changed o make 1t fair.
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1. a. Find all the possible outcomes for the Viakmg Purple game in Problem 1.3 by :
creating 2 counting (tree.

[ | Q< Lol :
N | -

Uy el

\ |\ b. (Use vour counting tree (o find the theoretical probabilitv of making purple on
\\\n v, " d amrn.

ot QU,IF e
— m .
¥ % P( pwpk) ol oo g O

¢. How does the theoretical probability vou found by using a counting tree compare
with the theoretical probability you found in Proble}'n 1.3? .
\ ’EJ was The o2 T herry e L el a @l/w}fm Yee b
“ Jud copred The amsuers Gl rid of h e C/n
2. Shondra played a game with a spinner and a coin. For each turn. she spun the
spinner once and tossed the coin once. For example. one possible outcome would
be blue:head.

Weed 1
b

*\;\/

\' 1 ooa. Cre te—rejuntmg tree to find all the possible oytcomes of a urn in Shondra’s |
) €€ S n‘fh(lf 8@ v

\\ Cheeld] 2 ¥ NE
s : PRTISEE [ C—-;:r (j( ( ) jr1 (9 l , f
& > S ’\/.)r’{.-' o
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s s H* Heay |
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3. What is the probability that Shondra will spin blue and toss a head ona turn? C
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A dart is thrown at random at cach ol the dartboards below.

A 8 a8

N

A 8

Board 1 Board ~ Board 3

1.

a. For each danboard, what is the probability that a dart will land in a region ¥
marked A? A region marked B? A region marked C? ‘

b. For board 1, what is the probability that a dart will land in a region marked

AorB?

c. Forboard 2, what is the probabslity that a dart will not land in region C?

-

Lan s bl
cans louk cxvacthy the same |

contun spinach, tour

at random and opens it.

a.
b.
c
d.

e.

j

What is the probability that the can contains corn?
What is the probability that the can contains beans?
What is the probability that the can does not contain spinach?

What is the probability that the can contains beans or tomatoes?

 aster Tulu tore the vt s trom ten cans ol vegetables. Now all of the
art hnows that three ol the cans contain corn, WO
contain beans, and vne contains tomatoes. Lori picks a can

Is it equally likely that any one of the vegetables is in the can? Explain.

o

w.

José _M BoIng 1o a party. He has decided to wear his jeans and a sweater, but he
can’t decide what else 1o wear. The counting tree below shows the possible oul

he can make if he randoml
y selects sneakers or loafers; bl
and a black, red, or plaid cap. oy e

a.  Whatare the chances that José will wear loafers, blue socks, and a plad ¢

What are the chances that José will wear sneakers, either red or blue socks
and a black cap?

C.
What are the chances that José will wear __:5:. _.2_ uc:o nor 4 Fa E_z

|
h Y’

N

/ ¥

sneakers

start

‘

loafers




